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- 4) 6) F0= (3x +8)5im (¥
F(x)= % srn(x) +(3x +8) - cos(x)

b) F(x)= (3% +8) Cos (x)
Fiixy = % CosXx ‘+é>( +8) (-sm(x) = 3601(><)-(3’,\+8)-5(’»¢(x)

c) Fx)= (1x—1)ssin(1y)= CUx=-1)-srn(Lx)
Ply)= 2- s (2x~1) - cos(2%).2
Py = 2 ¢/rn(lx) + 2:Clx~14)-cos(1x)

br. 5) P00z (x-1)-(x-3)"
a) Schnirll mrf > -Achse Nullproda 4t
FOx) =0 = (x~4)-(%x=3) = x,=1 V X773
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b) Fi(x)= 1(x=3)"+(x=1-2(5%-3)
F'(x) = U =304 20c=1)(x-3)= X =6 x+ 342X ~6x-1x 44
F'Ox) = 3x*-14x +/5=. (%-3) (’sx—f)J%@“i‘)au;mmﬁ,,n
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otr Bx~5=20 = X, = 5
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